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Quadratics Review Name U’U\J pd Date
v

Fill in the blank with the c~rrect vocabulary term or terms.

1. The line passing thro' gh the vertex that divides the parabola into 2 symmetric parts is called the

aX1 ¢ of Q‘VLMMIQ'Y?_,

2. If|a] <1, the parabola s W du / thany = x2.

3. If |a] > 1, the parakblais 9“”’”“{{ thany = x2.

4. The formula to find tie axis of symmetry or x coordinate of the vertex is

< m(X/V‘\)Lf 2

5. The vertex form of a wuadratic equation is Vj
g d renc

o function can be written in the standard form
y =ax?+bx +c vherea # 0.
ul

7. Every quadratic function has a U-shaped graph called a

r(/\ (U\VO‘O‘.

wWord
8. If the leading coefficient a is positive, the parabola opens concen e V{ .

9. If the leading coefficiznt a is negative, the parabola opens .

10. The V¥ X

opens down,

«._is the lowest point of a parabola that opens up and the highest point of the parabola that

Answer Bank

slwider—s Conreavedownward Parebota
x=t
2a a
pe=mx=Hy Tk | Quedratic Skinfrer— -b
._.X'-;"Ea""_
Comreavelpward Axis-afsymmetnl y=a(x+h)’ -k minimum
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= ;zntify each as linear, qu adratic or neither.
= iLy= 2x2+3x—1

Al e
‘mh ¢ 14.x2+ y2 =9 _“{__|_____
12.y =2x +5 Iwea s ar
Y - 15.y=-§;x2—12 EL\'(__.__
13.x=3 TN Vs Nd an F1C
6. y=@-nr _WAm
Fill in the missing informazion.
17'y= _6x2+3-,_12 18.y=_1_x2 —8x—2
'Wi':‘t is the directio~ of o;;ening? ____a:i:‘\’ :\ What is the direction of opening? —————x -
S the vertex a max ¢ r min —_— Is the vertex a max or min?
Wider, narrower or sameasy = x* - narfowl | L oweror sameasy = x? WLV
— 0_ 2
19. y = fxz + 3x 4.7 200y=9-x
- What is the directio--of opening? w What is the directlon of .o;;ening? %Vvl;‘—
stevnscmarm T |stenecnmony BSOS
Wider, narrower or cameasy = x2 Skivaiey ’ )

]
X

Find.the vertex and ¢;

wis of symmetry for the quadratic functions. Write the equation in vertex form.

21. y = 2x? — 16x.5- 33
S S ‘ Ea-
a=s [= b= -lLP c= 33

Lo g
7,(1\

Axns of Symmetry _

v = z(‘?)z'? e (4) ¥ 33
37,3—-\04’ 33

Y1 (40)
yz(x-4"

Vertex X'l N

Vertex form

2. y= —x?>4+2x+1

a=-\_ p=_— c=__\__
- - L _
X :L’('j\\ \
‘ X \
Axis c-f__Symmetry
W= - ()Y 200 )
v = - I FL 1 =
Vertex /[ 1 \
L l' & )

Verte» form:

V)" - (X-:iyz'l’

12
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a‘/l {
i3

1 n (T R e

‘.
23y= 3x2_10 )
r a= g : b=;g c=_‘0
=2 .
Z(3)
Axis of Symmetry __)(: O

Y >3V -10 = -0

(0,-10)

Vertex

9=3(xN"-10

Vertex form:

24. y = —8x + 13 + x?

|\ | @3 \3
x= 8 _
2 ()~ Al
X = 4’

Axis of Symmetry

gz k(413 ¢ (D7
¥y : o -32 ¢13 bl

9=5 (4,-3)

Vertex

2
Vertey; Form: \’) = (X - ‘t) - 3

Write the following in ste rdard form and find the y-intercept.

Vertex Form

Y-intercept

|

Standard From

25. y = 6(x —4)? - 10
vzt (x*-%y e Y- 10
Y = Lxt~ 4y v - 10
Y= bx-48x tTL

\1*—@\0

\9)(17- ‘\3)(.1'3(0

y:

o
Y = u(m"-‘\%(oha\b (v,8

26.y=(x-3)2%2+2 -
VI y—Lx +9 e
= x& —lx + [\

g- 1
(Ul\\\

szLpbx gy
y:=qg® -t (0)

27.y=-3(x - 1)% 4+,

v -3 (k= wmndrL
g 2 “dx Falty -3 t+2
)

V= 3xcrlhx- |

Y=/3er\eK/l \0:4\
- _v(0) 1L o) -\
9= ( (ﬂ/’\\
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identify the vertex ar j the y-

\ |

28. |

Axis of symmetry = X = 3

Vertex: ( ?»/ 7’)

Cal""g3

intercept of th i
e following graph and then match it to the appropriate equation

[1 )
Axis of symmetry=__X = ,

Vertex: ( 'l ‘\7

y-intercept: ! (0’ 3 !

30.
Axis of symmetry = _X = |

(1, 1)
(9,6)

Vertex:

y-intercept:

7

Matches to Equation

y-intercept:
matches to Equation___ D Matches to Equation _ Matches to Equation Al
X h /
0 §
3 32. 33,

i = x : O - - -
Axis of symmetry=__— — = Axis of symmetry = __ ¥ = \ Axis of symmetry = Y - L
Vertex: (0'0) : (' '33 (-2,5

Vertex; ) Vertex: )
. (0,0 ) 3
y-intercept: ( y-intercept: €, 3 intercept’ ( g\ \

Matches to Equation F

Matches to Equation 6

Match the above gra:is to the following equations

x'w'
-

C. y=6x*+12x-3 Yy ="

Foy—=txe—T2x+3 Y- 'V

e W Bl l
A y==#F2x
D. y=x?+2x kf{:',\' l

G-W I

l. %2x+3 y=
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